7.1B  Graphing Square Root Functions
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Activity 1

Section 1) Crime Scene Investigators need to know how fast a car was going when it began to

slam on the brakes. Investigators use the skid di:

ce to determine this information.

7 . IB An equation that might model the speed of a car given the skid distance could be

V=4 3+5

where Vis the s

4\-1-3 + 5=

s per hour) when brakes were applied and d is the skid
distance (feey). don't s*h the equation yet!!
> Fill in the table below for this equalion/@ Al

> Plot your points M
on the graph to M
the right. *’
& 45 =
> Graphthe [0) W) =
equation in your -1 el G.Mﬁwm )]
calculator to 0 2o
check that you 1 o i 4
are correct. 2 2o :
E
4 a
S 0.0
6 1.9
7 1S
s (139 7 ) i
=4l 3
[ [
1 N

a) Explain what “d = 8 ” means in the context.

The skid distance 1s 8t

b) Are there restrictions on what values d can assume? Explain.
SN

No weaative valvas bewause disthnes
¢) If d =8, explain what “V” means in the context.
%

7. ®
spead 6% tha car (was

bYYajes Ware a >§H€z§;
d) Are there restrictions on what values V can assume? Explain.

can't e neg.

13K ‘m\:r“«"\ wihaen “Haz

No nsgative valves becavse spead can't be nas .

e) State the domain and range of the function, paying attention to context.

: X235 R v25men

f) Does removing the context of the problem change the domain and /or range? Explain.

no just tha labe\s
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2) Use a graphing utility to help you make the graphs of the following equations. For each equation identify the
significant features of the graph. Pay close attention to how the graph. equation and table of values relate to
one another.

a)

Hha 1% real Coov&\mt‘tcs (ne erver)

Nx—4+1

X

45670

¥

I

0

YR 21

19

. inc;easing(Circleom; \
(r29: in frork of T )

e Domain: T 2
e Range: \ 2
® x-jntercept: .
(578) x=5 +
e y-intercept:
none
Al
b) y=—Jx+3
2
X
y
an -p 4 T
* increasing or decreasing? (Circle one)
N
* Domain:
* Range: +
* x-intercept:
*  y-intercept:
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7.1C  Graphing Cube Root Functions

1) Designers of a new highway used the following equation to model a curve in the road:

v =3e=d+ 12,
where x and y are coordinate points from a bird's eye view of the section to be b (the

x-axis runs East and West and the y-axis runs North and South)

E 3
» Fill in the table below for this equation £
/i
» Plot your points on the graph below A
L=
» Graph the equation in your calculator to chec] =1
that you are correct.
x y ST T
-10 [9.8
3 | 5.)
6 5.5
—4 (o
) .5
0 F.Z
\n{'i(cﬁﬁ‘(\ 2 5.2 a
. r\\/ — 4 2
po 6 |15.8 v
8 [le.3
10 [J#+5

a) State the domain and range of the function, paying attention to context.

D R

b) Does removing the context of the problem change the domain and /or range? Explain.

Nope - .-FHhore wore n resthctions

2) Look at the following function in its different forms.

4
a) Are there any domain restrictions? Fristo i ‘
No Ly
How do you know? x 3
e shows louftl hrgJ o3 HE
‘Eﬂ wl,"e‘ foe—t
) e e any range -1l 4
restrictions? -4 5
-3 6
Na 2 ) ,
How do you know? 5 8 -10 L Y
awows on @YW 2 [ o
% f? What is Ih 4

C‘ 3, e a)myh
d) How can we lell what th1s by lookmg at the equation?
+is IS the ervxmg poiNn P\Lm'&tu point \

Lmﬁ e ¥ # kach /\'* one

e) Isthe grm decreasing? How can you tell from the equauon”v s2 Yy F ,& A2\ h’

“the. #* in Front of Y is Pos. (4-:0

3) Use the given information to explain what the domain and range for each function given below. Explain your

reasoning.

a) Equation b) Graph

v

y=3¢x+9-4

I . De .o Increasing or Decreasing?

ncreasing or Decreasing? (Circle one)

(Circle one)
. Domain
Domain__ _ —
Range
Range =

. . . 2 Point of inflection
Point of inflection o _

4) When given the function f (x)=</x—2+5, Mia says that the point of inflection is (~2,5) and Dylan says the

point of inflection is(5,2). Who is correct? What could you say to help them understand their mistake?



HOMEWORK:
L~ 5%@ * 0

#1,7, 8,18 (P-139)
#1,6,7,19 (P-143)
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